
Name K

a.) Find the y-intercept. ..c (0') =- 0 y t ~ (0)3 -t ';).-:J.(o)1. + ~t.f(b) +-q = 9

QO)9)L

b.) State the degree of the polynomial. \ V\~ 4 ~

c.) State the leading coefficient. ~ =\ \
d.) Determine the end behavior (TailsTest). ~

Y\ ; e Ve.N"l ~a>o

e.) Determine any I

f.) Determine any local maximum points.

[(-~II)J
g.) Sketch a complete graph sl10wingall appropriate behavior.

h.) Solve for whenilx) = 0 .

. ~ ~

i.) Rewritef(x)in factored forO)I'(= (X -\-3) ( X+1)



@;
. Given the polynomial [(x) = -2x(x + 3)2(X - 4)3

"J\~.)l\ .) Findthe x-intercepts. State the multiplicityof each x-intercept.
~ , 0;; -~ x (x -\-~) '2. (X -4) 3

-:1.x::o (X-\-3)~::0 (X~~X=o x=-3 =4
b.) Findthe~Pt.~~ V'r\-.<1+3 ~

(0) -;:' -~(o) (a-t3J.'2.(O-Lf)3 =- 0 ~
c.) State the degree of the polynomial. en -=- ~~

d.) State the leading coefficient. (Q:::,;:) \
e.) Determinethe end behavior (~a~I~). "Q

QL..O
f.) Sketch a complete graph showing all appropriate behavior.

\V
I .

3. Findan equation ttffit represents the graph shown below. Each tick mark

represents one unit. X :: - 3 '><.= -, )( ~ I I ,
(y\v \+ 2- ""~ \ t I \11~ +

y~/ ~ 3)1- ( )(+-\ ) ()( -I)
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. 3x+3
4.) Given[(x) = -6x-l

@.) Find any vertica'i asymptotes. Ifnone, say "none",

b.) Findany horizontal asymptotes. If none, say "none".

n =¥Y\ ~14Q/b
"/ =I: 3Jlo G ~ 1/;1. J

c.) Find any x-intercepts.

'3 x+ 3 == 0

3 X ;:; ---3 (- \ 10)

fx ::: -\J
d.) Find the y-intercept.

-+to):= 3(o)~3
lot 0) -I

'3-- - - -3--I

e.) Sketch a complete graph showing all appropriate behavior.
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5.) Given {ex) = :2~: t;V\¥ ~::: (X -~) J (X'--4)

@:>'1-~ a.) Find any vertical asymptotes. If none, say "none". X -'-( 1: 0

. ( X t ~ ) (x -.:l) J 0

[Xf t.:l)
b.) Find any horizor:ltal asymptotes. If none, say "none".

m 7Y1 =.> l'/ +=0 ~)

c.) Find any x-intercepts.

d.) Find the y-intercept.

.fLo) :::

e.) Sketch a complete graph showing all appropriate behavior.

- - -

6. )

Z-,
I
\

exist.

Usethe graph of I(x) above to determine how many real solutions to I(x) ==t)

- --


